CFD FLOW SIMULATION

FRONTAL SPOILER GP

REF.20522

BMW STO0OO0ORR
2019 -




CFD FLOW SIMULATION REF.20522

DRAG FORCE WITHOUT PUIG
0 100 200 300 SPEED [Km/h] SPOILERS SPOILERS

-200

-400 = NO SPOILERS
-600

800 = PUIG SPOILERS

DRAG FORCE [N]

-1000
-1200

-1400

Drag force - Speed Chart:

On this chart we can see the force that

our bike has to overcome to advance
depending on the speed we are travelling at.
As we can observe this force is practically
the same with the Puig Frontal Spoiler GP.
So we will gain downforce without affecting
bike speed.

= DEPREASSURE == OVERPREASSURE

Due to its angles and frontal surface, it

creates an overpressure on the top of the spoiler.
The turbulance create below, generates a difference
of pressure between the upper and lower part of the
spoiler. Which ultimately generates the aerodynamic
downforce.

resicr >




CFD FLOW SIMULATION REF.20522

SPOILER’S DOWNFORCE

0 100 200 300 SPEED [Km/h]

— DOWNFORCE

DOWNFORCE [Kg]
N

Downforce-Speed Chart:

On this chart we can see the downforce that the spoilers generate.




P"i www.puig.tv info@puig.tv

Hi-Tech Parts WWW.pUigusa.com info@puigusa.com

REF 20522

?

1Person

N
(@)
3
=

©

TORX l ALLEN ‘
EASY T25 Ne 3

ﬂ PIEZA/PART DESCRIPCION DESCRIPTION REF
)

1 & Soporte aluminio derecho Right aluminium support 1 SOPOR2P5-R20522
el

2 \'/\ Soporte aluminio izquierdo Left aluminium support 1 SOPOR2P5-1L.20522
3 @ @ Pieza soporte alerén ( Tamafio pequefio) | Spoiler support piece ( small size) 4 SOPOR-1---20431
4 Alerén derecho Right spoiler 1 10907N/F/HM3
5 Alerdn izquierdo Left spoiler 1 10907N/F/HM3

6 Kit velcro dual lock (tamafio pequefio) Kit dual lock velcro ( small size) 4 VELCRO---120431
7 %ZZD Tornillo Allen M5x30 @11 ISO 7380 M5x30 D11 1SO 7380 Allen screw 2 TORNI-17380-767
8 o Casquillo J13 x &8,5 x 9mm 13 x 8,5 x 9Imm arrowhead 2 CASQUI------ 777
9 @DDD) Tornillo Allen M5x20 @11 1SO 7380 M5x20 @11 1SO 7380 Allen screw 2 TORNI-17380-730
10 @ Tapdn tornillo M5 DIN7991 (NEGRO) M5 DIN7991 Screw cap (Black) 2 TAPON-------- 92
1l Tornillo M5x16 DIN7991 (NEGRO) M5x16 DIN7991 Allen screw (black) 2 TORNI-D7991-867
12 Arandela de goma @4.,5 x @11 x 2mm 34,5 x I x 2mm  Rubber washer 2 ARAND-EPDM--722
13 w KIT Adhesivos Stickers set 1 ADHESI----20522
14 Plantilla Template 1 | PLANT-----20522




p" g www.puig.tv info@puig.tv

WWW.puigusa.com info@puigusa.com

Hi-Tech Parts

INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

Se muestra el montaje del lado derecho a modo de ejemplo, realizar los mismos pasos para el montaje del lado izquierdo.
The right side assembly is shown as an example, so the same steps can be performed for the left side assembly.

1

DISASSEMBLY ASSEMBLY
DESMONTAJE MONTAJE

///
A

ASSEMBLY Utlllzar la misma plantilla para lado derecho e izquierd
MONTAJE Use the same template for left or right side



P" g www.puig.tv info@puig.tv

WWW.puigusa.com info(@puigusa.com

Hi-Tech Parts

INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

Se muestra el montaje del lado derecho a modo de ejemplo, realizar los mismos pasos para el montaje del lado izquierdo.
The right side assembly is shown as an example, so the same steps can be performed for the left side assembly.

4]
ASSEMBLY Y ASSEMBLY
MONTAJE \ MONTAJE

Extraer papel del adhesivo del velcro

Extract paper from the velcro

APPLY PRESSURE ON ADHESIVE AREA FOR 1 MINUT. IDEAL TAPE
APPLICATION IS ACCOMPLISHED WHEN TEMPERATURE IS BETWEEN
21°C AND 38 °C AND THE BOND IS ALLOWED TO DWELL 24 HOURS.

ASSEMBLY
MONTAJE
UNION LAS DOS PARTES DEL VELCRO
- CENTRAR LAS DOS FORMAS ENTRE ELLAS,
LO MAS EXACTO POSIBLE, ASEGURANDO
LA MAXIMA AREA DE ADHESION.

- PRESIONAR TODA LA SUPERFICIE
ASEGURANDO UNA UNION PERFECTA.

JOINING THE TWO PARTS OF THE VELCRO
- CENTER THE TWO SHAPES BETWEEN THEM
AS ACCURATELY AS POSSIBLE, ENSURING
THE MAXIMUM ADHESION AREA.

- PRESS THE ENTIRE SURFACE ENSURING
PERFECT BONDING

[PXEJ APPLY PRESSURE ON PIECES SPOILER SUPPORT.




p"i www.puig.tv info@puig.tv

Hi-Tech Parts WWW.pUigusa.com info@puigusa.com

INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

Se muestra el montaje del lado derecho a modo de ejemplo, realizar los mismos pasos para el montaje del lado izquierdo.
The right side assembly is shown as an example, so the same steps can be performed fo the left side assembly

N

ASSEMBLY
MONTAJE

ASSEMBLY
MONTAJE




	20522 (2)
	20522 (1)

